Multiplying a Monomial by a Binomial (J)

W

Ot

6.

EN |

8.

9.

—77“5(—47“3 —

Simplify each expression.

- =3f3(5f +4)

r?)

—35°(25° — s%)

=9k (—=3k —

b(4b* — 7b)

- —8a*(—8a® + 8a?)

6)

—=Tf33f - 3)

—a*(—5a — 3)

8y(y® + 3y°)

10. 2¢3(7¢" + 8¢
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Multiplying a Monomial by a Binomial (J) Answers

Simplify each expression.

- =3f3(5f +4)
— —15f3 — 122

\}

=T (=4 — r?)
= 28¢% + 71"

3. —35°(2s” — %)
= —65'" 4 3s”

- —8a*(—8a® + 8a?)
— 64a’ — 64a*

o

- —9k°(—=3k — 6)
— 27k + 54k°

ot

o)

5. b(4b* — Tb)
— 4% — b

J

I =Tf33f - 3)
= 211 42173

. —a2((—5a —3)
= 5a” + 3a”

Q0

). 8y(y® +3y°)
= 8y* + 243

o]

10. 2¢°(7¢* + 8¢%)
= 14¢" + 164°
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